
12© tF¥ò khÂç brŒKiw édh¤jhŸ 

jhtuéaš 

neu« :- 2.30 kâ        bkh¤j kÂ¥bg§fŸ : 20  

 

1. (A)             (6 kÂ¥bg§fŸ) 

  a) bfhL¡f¥g£LŸs kyª (A) vªj FL«g¤ij rh®ªjJ vd f©l¿f.  (1 kÂ¥bg©) 

 b) kyç‹ ghf¦fis jåik¥gL¤Â kÂ¥Õ£o‰F rkª¥Ã¡fÎ©.        (1 kÂ¥bg©) 

c) kyç‹ghf¦fis gl© tiu¨J ghf¦fis F¿¡fÎ©                    (1 kÂ¥bg©) 

d) kyç‹ K¡»a g§òfSŸ VnjD© Ïu§oid vGJf.                (1 kÂ¥bg©) 

e) kyç‹ é¤Âu¤ij tiuf.            (1 kÂ¥bg©) 

f) kyç‹ thŒ¥gh£il vGJf.            (1 kÂ¥bg©) 

 

2.    (B)k‰W© (C)-æš it¡f¥g£LŸs  °iyL / khÂç / ãH‰gl© / bghUŸ ahbjd¡  

  f©l¿f.  f©l¿ªjik¡fhd ÏU fhuz§fis¤ jUf. (gl© njitæšiy)                                                                                                                 

           (1+1)(1+1) = 4 kÂ¥bg© 

 

3. (D)-æš it¡f¥g£L£ss MŒÎ mik¥Ã‹neh¡f©, njitahd cgfuz¦fŸ, 

brŒKiw, fh§gJ k‰W©  m¿td M»aitfis vGJf. (gl© njitæšiy) 

(Kjš eh§F nrhjidfŸ  k£L«)  

                            (1/2+1/2+1+1/2+1/2 = 3 kÂ¥bg©) 

  

4. (E)-æš it¡f¥g£LŸs jhtu¥ bghUë‹ ÏU brh‰bgaª, ga‹gL© gFÂ k‰W© 

VnjD© xU ga‹ghL M»at‰iw vGJf.   

          (1 +1/2+1/2 )= 2 kÂ¥bg©) 

 

 

                     bkh¤j« : 15 kÂ¥bg§fŸ 

              brŒKiw gÂntL :   5 kÂ¥bg§fŸ  

                mÂfg£r kÂ¥bg§fŸ:  20 

 

 

 



 

 

XII STD   BOTANY PRACTICAL MODEL QUESTION PAPER 
 
TIME: 2 ½ Hours      Max . Marks : 20 
 
1 A        (6 Marks) 

  a) Identify the family to which the given flower (A) belongs to.      (1 Mark) 

  b) Dissect and display the parts of the given flower.                        (1 Mark) 

  c) Draw and label the floral parts       (1 Mark)   

  d) Write any two diagnostic features of the given flower   (1 Mark) 

  d) Draw the floral diagram        (1 Mark) 

  e) Write the floral formula        (1 Mark) 

 

2 B 

 Identify the microscopic slide / model / photograph / real specimen  kept in  

  (B) and (C) give two reasons for identification. (Diagram not necessary)  

          (1+1),(1+1) = 4 marks 

3 C 

  Write aim, apparatus  required, procedure, observation and inference of the  

          experimental setup kept in (D)      

         ( ½+½+1+½+½)=3  Marks 

 

4 E 

 Write the binomial, any single use and morphology of the useful parts of the   

  specimen kept in (E)       (1+½+½)=2 Mark 

 

 

      Total :- 15   Marks 

                       Record :   5     Marks 

      Maximum marks     :  20 

 

 


